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Section A : (30 x 2 marks)

For each question from 1 to 30, four options are given. One of them is the
correct answer. Make your choice (1. 2,3 or 4). '
Shade the correct oval (1, 2, 3 or 4) on the Optical Answer Sheet,

1. Stuély the flowchart below.

Start

Db’esit have
. feathers?

What could Q he?

(1) bind

(2). plant
(3) insect
(4)  mammal

2. Amilipeds, as shown below, wl curl itself when touched,

This shows that milllipede is a living thing because it can

(1) grow

(2) breathe
{3) respond
(4) reproduce




3. The diagram below shows the fife cycle' of an animal,

egg-

adult farva

pupa

Which animal is likely to have the life cycle as shown above?
(1) frog
{2) chicken

(3) garasshopper
(4) mealwonn beetle

The diagram below shows a maize plant.

Which part, A, B, C or D, makes food for the plant?

(1 A
(2 B
(3 ¢
4 D



5. Which one of the following is the function of the stem of a plant?

(1) - makes food
(2) absorbs water
(3} absorbs nutrients
(4) holds the plant upright

6. The graph below shows: the length of time for the different stages in the life
cycles of 2 species of moths, K and L

Number of days
21

18

16

12 | nMoth K

9 1 . -OMoth L

5l B
0 +— .

Egg Larval . Pupal

— Stages

At which stage would moth K and moth L be on the 15" day after the eggs

were laid?
Moth K \ Moth L
1) Pupal Pupal
2 Pupal Larval
|3 Adult O Pupal
4 Adult : Larval




7. Chee Meng had the following miaterials.

egg shell bean seeds beaker of 2 identical pl_asﬁc
water coniainers

Which one of the following aims cannot be.investigated using only the
materials from above?

(1)  Doesthe type of egg shells affect the germination of the bean seeds?

(2)  Doesthe amount of soif used affect the germination of the bean seeds?

(3) Does thie amount of water given affectthe gemination of the bean seeds?

{(4)  Doesthe use of crushed egg shell as fertiliser result in better seedling
growth? .

8. The Tife cycle of a bed bugiakes between 5 weeks to 4 months to complete.
The diagram below shows the development of a bed bug.-from an egg to an
aduit.

{1.5mm long)

(> e - - (2mm long)
| )

ﬁ(&t‘)mm fong)
"h’% (3mm long)

How many stages are there in the life cycle of a bedbug?

(6.5mm long)

(4.5mm long) -,

(1) 3
(2) 4
3 &
@ 7



A group of pupils set up an experiment as shown below.

rootsﬁv- : S

Beaker Q

Beaker P and Q were left in the open at the same loecation and the amount of
water in each heaker was recorded overa peried of time.

Volume of water-(rvil)
500 7

400 -
300 4
200 - Q
100 -

0.

p
T T ) T - Numberofda
14 2 3 4 5 ¢ ys

Based on the results of the above experiment, the pupils can conclude that

(1) the Initial amount of water glven will affect plant growth
(2) the presence of roots will affect the amount of water taken in by the plant
(3) the number of léaves will affect the amount of water takan in by the plant

(4) the location of the experiment will affect the amount of water taken in by
the piant




10,

Mr Han wanted to find out the effect of 3 different types of chemicals, X, Y and
Z, on the survival of duckweeds. He filled 4 identical tanks, A, B, C and D, with
the same amount of water and duckweeds. He added the same amount of |
chemical X, Y and Z to tanks A, B and C respectively. He counted the number
of duckweeds over. four days and recorded the resuits in a table as shown

- below.
Numher of duckweeds
Day .
‘!‘an!g_A Tank B Tank C Tank D
1 10 T 70 10
2 10 9 10 10
3 16 5 8 16
) 16 1 6 16

e

1.

Based on his results, he conciuded that only two of the chemicals affected the
survival of duckweeds.

Which tanks did he compare to reach his conclusion?

(1) AandDonly
(2) BandConly
(3) A BandConly
(4) A,B,CandD

. Maiter ié anything that has mass and occupies space.

Which one of the following is NOT matfer?

(1} air

(2) rain
(3) sand
(4) shadow




12. The diagram below shows some magnets on the door of a refrigerator.

13.

ﬂ @J\\

magnets
Yy /'_A\ -

25 (B
HY . A :
k1

m@k@/

m—————
o
| -

@ |

)

refrigerator

The magnefs can be altracted to the door because it is made of

(1) steel
(2) wood
(3) plastic
{4) rubber

Raja boiled some water in the kettle shown below.

piastic handle

He is able to hold the kettle of boiling water using the plastic handle because
plasticis a .

(1) light material

(2) flexible material

(3) poor conductor of heat
(4) good conductor of heat :




| Look at the picture below.

14.

Sun

intasa e g L

et

Eiffel Tower

the Eiifel Tower?

Ice can see.

ins

Direction
of {ight

why Bemn

()

Which one of the following best expla

(1)




15.

Victoria wants to measure the temperature of tap water in a beaker,

Which one of the following diagrams shows the correct position of the
thermometer when taking the temperature reading?

m @

3 4

10




16.

17.

Nikki set up an experiment as shown in the diagram below.

iron ball

3
L4

oL — >
N IN! N
: —— ‘plastic table
magnet moved in i 1
the direction -1
I  .magnet , ground

As Nikki slid the magnet along the underside of the,tab!e, the iron ball moved
along the“direction as shown above.

What did Nikki's experiment show?

{1) A magnet does not aftract all types of metals,

(2) Plastic allows magnetic force fo pass through it.

(8) Magnetic force can pass through all non-metallic materials,
(4)  The poles of the magnet exert the strongest magnetfic force.

Which one of the following mixture of objects can we use a magnet to
separaie? .

(1) Nickel pins and iron nails

(2) lron pins and copper nails

(3) Iron pins and steél needles

(4) Copper nails and wooden toothpicks

11



18. Study the flowchart below.

Which one of the following best represents E, F, and G?

Matter

Does it havea -

definite shape?

Does it have a
definite
volume?

. E | F G
i\ sponge :| . orange jtii_c:e sand
(2) plasticine , air coffee
3 sand water oxygen
) coin oxygen milo

12




19. Afewice cubes are left fo melt oni a imietil tray as shown in the diagram below.

ice cubes

Which of the following statement(s) is/are correct when the ice cubes are
melting? -

A The temperature of the ice cubes increases.
B The temperature of the metal tray decreases.
C - The ice cubes are losing heatfo the surrounding air.

(1) Bonly

(2) Aand B only
(8) Aand C only
(4 ABandC

20,  Which one of the following electromagnets has the strongest magnétism?

1 @

1ron nail

@) ’ @)

-
-

fron nail -




21. The diagram below shows a square, a friangle and a circle made of metal,
frosted glass and clear plastic respectively.

' 3cm '
= A .
——
3om

The three objects are gluec} against each another before they. are placed
between a lighted torch and a screen as shown below. A shadow is obseived
on the screen. .

N
N

torch Three objects

glued together screen

2

]
1\

Which one of the following shadows is possible?

(1)

@)

(2) -
(4) @ .

14




22. Zaidi removed a jar of honey as shown below from the refrigerator. He could
not open the metal lid of the jar because it was too tight

metal lid

glass jar

‘ ”' Which of the following actions will enable Zaida to remove the metal lid?

A Heat only the lid over a flame

B Place some ice cubes on the metal fid

C Wrap a cold towel over the glass jar only

D Immerse the jar of honey in a basin of hot water
{1) A oniy |

(2) Aand C only
(3) Band D only
{4) A, C and D only

15



23. Ronald walked past a lighted street lamp from point V to-Y as shown in the
diagram below.

- ~
yd N\
Ronald

- street lamp
g . 5 —e—
v

w. o X Y

Ronald walked at the-same:pzce fromV16.Y. The length of his shadow at point
V, W, X and. Y ‘were recorded.- Whmh ‘one of the following graphs best
represents the changes in the length.of Ronald’s shadow?

(1) Length of shadow (m) (2} Length of shadow (m)
. /r\ M
———+——+——+—— Posifion t——+—+——+—— Position
V W X Y V W X Y
(3) Length of shadow (m) {4) Length of shadow (m)
A ; N
Position

Position

<.,_
E—-
ol
<

16




24. Three similarsized sheets made of different materials, E, F, G, were weighed
individually before they were put info -3 beakers containing equal amounts of -
water. After 15 minutes, each shest was taken out and weighed again.

Their masses were re_zcorded in a table as shown below.

Material Mass at the beginning (a) | Mass after 15 mil;:utes.(g)'
E ' T — 12
F 12 14
& T~ 7 12

Which one of the following shows the arrangement of material E, F and G
beginning with the most absorbent to the least absorbent?

1) E.FG
(2) F.E G
3) G,EF
() G,FE"

17



25. Mr Jordan wants to transfer 200cm® of oxygen from a gas tank into another
container. He has 3 containers, A, B and C, to choose from.

250 cm® o E j
200 cm 150 cm®

A B Cc

Which of the above containers can he use?

(1) Aonly

(2) B only

(3) AandBonly
4 A,BandC

26, In the set-up below, beaker X and Y contain- equal amounts of water at different
temperatures. The water in the beakers were then poured into the trough.

Trough

What is the most likely temperature of the water in the frough after an hour?

(1) 29°
2) 65°C
3) 85°C
4y 130°C

18




27. Rachéel magnetised an iron nail by placing it at the pole of a bar magnet as

shown In Figure 1 below. Figure 2 shows the magneﬂc poles of the 1ron hail
after it was magnetized,

fron nail

Bar magnet

Figure 1 . Figure 2

She then placed the same iron nail near 2 compasses and she observed the
compass needles interact with the nail as shown below. -

‘N

Which ore of the following statements best explains the observation made of
the compass needles?

(1) The nail is a magnetic object.
2 The compass needles are hon-magnetic objects. _
(3) Magnetism has passed from the nail to the compass needles.

.. @ The nail has become a weak magnet and attracted the compass
needles.

19



28. The tabie below shows the state qf four substances, A, B, C and D, at different

29.

temperatures.
' State of substance at
Substances 20°C 40°C ' 60°C
A figuid liquid Tiquid
B “solid ~ liquid liqu‘fd
T ~ soid solid Tiquid
D sid | soid | sold

Which on of the following statements is trué about substances A, B, Cand D?

(1) -The boiling point of substanca C is 60°C.
(2} Substance A has the lowest boiling point.
(3) Thefreezing point of substance B is 20°C.
(4) Substance D has the highest melting point.

A plastic ruler is attached {o a sopper wire and a lit candle is placed underthe
copper wire as.shown in the diagram below.

co} i
plastic ruler pper wire

Which one of the following is the most likely observation after 10 minutes?

(1) The copper wire breaks.

(2) The plastic ruler bends less.

(3) The plastic nuler bends more.

(4) The copper wire becomes shorter.

20




30. Joshua carried out an experiment in an enclosed dark room with the set-up
shown below.

| A B C D E
* He amranged the torch and 5 similar-sized sheets made of different materials A,
B, C, D and E in a straight line. Sheet C has a star-shaped cut-out in the middle.

When the torch was switched-on, a star-shaped paich of light was seen on
sheet D only.

Which one of the following correctly describes the properfies of materials A, B,
C,Dand E?

Materiais which : Materials which do ! No_t o ssible t? tell
. o - , . if the material _
allow light to pass { notallow all light to R
through pass through allows light to pass
_ through
(1) Aand B C,Dand E -
(2} Aand B Dand E C
(3) A/Band G D E
10N Aand B Cand D E
End of Booklet A
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Section B: 40 marks

For questions 31 to 44, write your answers in this booklet.

The number of marks available is shown in the brackets [ ] at the end of each
question or part question.

31. "braw lines to }natcll thefd!iowing aniimals to the correct groups.

[31

Animals

Groups

e bird

+ insect




32.

The diagram below shows the human digestive system.

Maich the letters A, B, C and D to the correct statements.

3]

Statements

Letter

(@)

Chums the food and mixes it with digestive juices to digest
some of the food.

(b)

Digestion of food completes and abserption of digested food

takes place.

1@

Pushes balls of food along and no digestive juices is produced.




33. The diagram below shows the stages in the life cycle of a plant.

q

A B

. Choose the correct words from the box to answer the question below.

~seed egg adutt plént : young plant
Name the stages A and C in the Iife cycle of a plant. 2]
A

c




34. The diagram below shows the life cycles of two organismis P and Q.

Organism P Organism Q

(a) Based only on what is observable in the above diagram, stafe two -similarities

between the life cycles of organisms Pand Q. - 2
0
(i)
(b) Organism P can be considered harmful to plants. Why is this so? [2]




35. Thé diagram below shows a bus.

Part A

(a) Part A is made of glass because it allows to pass through so that
the bus driver can see the road. i 1
(b) Part B is made of . because B has to be strong. 1]

36. Penny shines a torch on the can and a shadow is formed on the screen.

torch can

screen -
@) Ashadowis formed when light is - byan object. 1]
(b) Draw the shadow of the can that is formed on the screen. [1]

screen




37. Kathy hung two identical metal balls, Q and R, from a horizontal rod and a lit candle
-~ was then placed directly under metal ball Q as shown below.

it candle

(@) After a few minutes, will Kathy observe the rod tilting down to the left, right or
remaining balanced? i1

(b) Explain your answerin (a). [1]




38. Mandy conducted an experiment to find cut the time taken for liquid R and S {o reach
100°C. She poured equai amounts of fiquid R and § into 2 similar-sized glass beakers
before heating them as shown below.

3 . beakers
. /
fiquid R —__E5iets] o] - liquid S

ik
o s

(

bunsen bumer with
adjustab;e.-ﬂame_

She recorded the temperatures of liquid R and S over a period of 30 minutes and
plotted the graphs below.

Temperéture (¢C) ' “Temperature (°C)
100 : 100 - :
o — o] —
ol %" A
40 4 — 40 +— —

! 1
20 ¥ — .20 =" :

0 7 Time (min) O o = ap Jime (min)
0 5 10 15 20 25 30 0 5 10 15 20 25 30
Liquid R Liquid S

(a) Based on tﬁe resulis of the above experiment, which liquid is a better conductor
of heat? Explain your.answer. - . _ [2]

(b) Using the same apparatus and without adjusting the size of the flame, suggest
what Mandy can do to make fiquid S reach 100°C in a shorter time. 11




39.

Pamela filled a basin with water and placed an inflated balloon in it as shown in Figure
A She then pushed the balloon into the water as shown in Figure B and observed a
rise in the water level. ‘

balloon

Figure A Figure B

{(2) Based on the above observation of the rise in water level, what property of air Is
demonstrated in this experiment? [1]

(b} Pamela repeated the experiment with another balloon filled with water fo the
same size. She noticed that water spilled out from the basin when she pushed
the balloon into the water exactly as before. Explain the difference in the
observations. - 12}




40. Dora wanted to compare the magnetic force of four magnets A, B, C and D. The -
magnets were of the same size. She set up the experiment below and observed the
number of steel pins that were attracted by each magnet. '

LELLLLLELLL L L L L 2L L L L L LI L L L L LIS

fo o s s - ——

S ——

—

- plastic
tray

From the resulfs of her experiment shown above, Dora could not conclude which
magnet had the strongest magnetic force.

(a) Suggestwhat Dora should do to her set-up so that she would be able to find out
which magnet was the strongest? . 11

{b) Using the same set-up as shown in the diagram above, Dora replaced magnet D
-with another magnet W of the same size.

State two possible observations that could be made if magnet W was a much
stronger magnet than magret D 121

" Observation 1:

Observation 2:

10




41. Madam Haji filled a bowl full with fruit punch as shown in the diagram below.

(@ A cup of fruit punch can be served with ice cubes or crushed ice. Using the same .
amount of ice, if Madam Haji wants the drink to remain cold for as long as
possible, should she use ice cubes or crushed ice? i {1]

(b) - Explain your answer in (a).

{2]

11




42. Water plants growing at the boftom of a pond take in any amount of sunlight which is
able fo pass through the water in order to make food. The diagram below shows a

pond with different depths A, B,Cand D.
Sun- /

light sensors
connecied to
- dataloggers

D

Connie used dataloggers to measure how much light is able to pass through the water
at the different depths and recorded her readings in the table below.

S Reading on datalogger (lux

Depths of g coger (g

pond (m) ist 2nd 3rd Average
50 248 262 250
1150 1101 1108 1119
500 505 495 500
800 805 807 804

(@) Complets the table above with A, B, G and D. 2]

() Waterplant X needs at least 750 lux of light to grow well. At which depth, A, B, C
or D, would Connie be able to find plant X growing? Explain your answer. 2]

A2




43. . Ahmad has 2 similai-sized ¢ontdiners P and Q, made of different materials. He filled
container P with water at 100°C and placed i in a basin of water at 28°C as shown in
the diagram below. He repeated the experiment for container Q.

thermometer

("
Basin-of
water at

28°C

=5 | Container P with
water at 100°C

" o

He then measured the temperature of 'the waterin P and Q over a period of time and
plofted his results in the graph below.

Temperature (°C)

100°C

> Time (mins)

(@) Based on the results in the above graph, which container should he use to keep
the hot drinks hot and cold drinks cold for as long as possible? [1]

{b) Explain your answer In (a). 2]

13




44, Keith set up an experiment as shown below. He used a sticky tape fo stick a circular
piece of wood on the plastic board as shown below and ncticed that the length of the
spring coil became 4cm.

magnet

circular plece of wood

plastic board

Sm\\g,—-—————-— spring coil
i . o

Keith was then given objects X and Y which have the same mass and shape as the
circular piece of wood.

3 D
X Y

He stuck the objects on the plastic board, one at a time, and recorded the length of the
spring coll in the table below.

Object | Length of spring coll {cm)
X 7 :
Y . ' 2

(a) Based on the results in the above table, which object, X or Y, is definitely a
magnet? [11

() Explaip your answer in (a). [21

End of Paper
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Q32)

Statements Letter
(@) Churns the food and mixes with B
digestive juices to digest some of the food

(b) digestion of food completes and C
absorption of digested food takes place

(c) Pushes balls of food along and no A
digestive juices is produced

Q33) A: seed
B: Aduit plant

Q34
a) 1) Both life-cycles of organism P and Q have the egg stage
i) Both the young of organism P and Q does not look like its parents
b) The young of organism P eats the leaves, Without leaves, the plant cannot make
food, so the plant will die.

Q35
a) Light
b) Metal

Q36
a) Blocked
b)

Q37
a) Remain balanced
b) The bali’s mass remain unchanged even though it has expanded after heating

Q38 :

a) Liquid R. Liquid R took a shorter time to boil compared to Liquid S, showing R is
able to gain heat faster.

b) Remove some of Liquid S from the beaker.

Page 2 of 3



Q39

a) Air occupies space

b) Air can be compressed but water cannot be compressed. The balloon filled with
water took up more space than the balloon filled with air, causing the water- to spill out
from the basin when she pushed the balloon filled with water exactly as before

Q40

a) Place the magnet the same distance away from the tray of steel pins

b) Observation 1; Magnet W could attract more steel pins then magnet D if it was
places at the same distance as magnet D

Obsewatlon 2: magnet W might repel magnet C.

Q41

a) Ice cubes

b) Ice cubes have Iesser surface area then crushed ice, so it will melt slower as
compared to crushed ice which has more surface area than ice cubes.

Q42
a)

| Depths of pond Readmg on datalogger (lux)
(m) lst _ an 3rd_ 4th
D ‘ 250 A 248 _]252 250
A 1150 1101 1106 1119
C 500 B 505 495 500
B 800 805 807 804

‘b) A and B. At depths A and B, the light sensors received more than 750 lux of light.
Therefore, it will be- able to receive enough sunlight to make food

Q43

a) Container P

b) Container Q cools down slower so it is a poorer conductor of heat. Hence it will
conduct heat away from the hot drink slower and conduct heat to the cold dr:nk
slower.

Q44

a) Object Y

b) Only magnets can repel each other. The like poles of the magnet and object Y are
facing each other, causing them to repel, so the spring was pushed downwards and

- the length of the spring became 2cm, therefore object Y is definitely a magnet.
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